
Potenzfunktionen Aufgabe 61 

 
Ergänzen Sie die Wertetabelle für den Graphen: 

 

y = x-1,2          
 

x       1               4 
y       1             0,19        

 
f(x) = 0,19 eingesetzt : 
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0,19 = x-1,2  

 

Logarithmieren: 
 

lg 0,19 = lg x-1,2 
 

lg 0,19 = -1,2 * lg x 
 

          lg 0,19       - 0,7212 
lgx = ---------- = ------------ = 0,601 --> x = 100,601 = 4 

           - 1,2            - 1,2    
 

                     1        
f(1) = 1-1,2 = ----- = 1 

                   11,2   
  

 


